
   

 

Chapter: 2. Inverse trigonometric functions. 

Exercise Miscellaneous 

1. Find the value of 1 13
cos cos

6

−  
 
 

 

Solution: 

Consider  

1 1

1

13
cos cos cos cos 2

6 6

cos cos
6

6

 






− −

−

    
= +    

    

  
=   

  

 
=  
 

 

2. Find the value of 1 7
tan tan

6

−  
 
 

 

Solution: 

 
1 17 5

tan tan tan tan 2
6 6

 
− −     

= −    
    

 

 
1 5

tan tan
6

−   
= −   

  
 

 
1 5

tan tan
6


−   

= −  
  

 

 
1tan tan

6

−   
=   

  
 

 
6


=  

3. Prove 
1 13 24

2sin tan
5 7

− −=  

Solution: 



   

 

Let 
1 3

sin
5

x− =  

3
sin

5
x =  

2
3 4

cos 1
5 5

x
 

 = − = 
 

 

3
tan

4
x =  

1 3
tan

4
x − =  

1 13 3
sin tan

5 4

− − =  

In 
1 13 24

2sin tan
5 7

− −=  

L.H.S
1 13 3

2sin 2 tan
5 4

− −=  

1

2

3
2

4tan
3

1
4

−

 
 
 =
  
−  
  

 

1

3

2tan
16 9

16

−

 
 

=  
−

 
 

 

1 3 16
tan

2 7

−  
=  

 
 

1 24
tan . .

7
R H S−= =    

4. Prove 
1 1 18 3 77

sin sin tan
17 5 36

− − −+ =  



   

 

Solution: 

Let 
1 8

sin
17

x− =  

8
sin

17
x =  

2
8

cos 1
17

x
 

 = − 
 

 

225

289
=  

15

17
=  

8
tan

15
x =  

1 8
tan

15
x − =  

( )1 18 8
sin tan ...... 1

17 15

− − =  

Now, let 
1 3

sin
5

y− =  

3
sin

5
y =  

2
3

cos 1
5

y
 

 = − 
 

 

16

25
=  

4

5
=  

3
tan

5
y =  



   

 

1 3
tan

4
y − =  

( )1 13 3
sin tan ...... 2

5 4

− − =  

L.H. S 
1 18 3

sin sin
17 5

− −= +  

 
1 18 3

tan tan
15 4

− −= +           [using (1) and (2)] 

 1

8 3

15 4tan
8 3

1
15 4

−

+

=

− 

 

 1 32 45
tan

60 24

− + 
=  

− 
 

 
1 77

tan .H.S
36

R−= =    

5. Prove 
1 1 14 12 33

cos cos cos
5 13 65

− − −+ =  

Solution: 

Let 
1 4

cos
5

x− =  

4
cos

5
x =  

2
4 3

sin 1
5 5

x
 

 = − = 
 

 

3
tan

4
x =  

1 3
tan

4
x − =  



   

 

( )1 14 3
cos tan ....... 1

5 4

− − =  

Now, let 
1 12

cos
13

y− =  

12
cos

13
y =  

5
sin

13
y =  

5
tan

12
y =  

1 5
tan

12
y − =  

( )1 112 5
cos tan ......... 2

13 12

− − =  

Let 
1 33

cos
65

z− =  

33
cos

65
z =  

56
cos

65
z =  

56
tan

33
z =  

1 56
tan

33
z − =  

( )1 133 56
cos tan ..... 3

65 33

− − =  

In 
1 1 14 12 33

cos cos cos
5 13 65

− − −+ =  

L.H.S 
1 14 12

cos cos
5 13

− −= +  



   

 

1 13 5
tan tan

4 12

− −= +                   [Using (1) and (2)] 

1

3 5

4 12tan
3 5

1
4 12

−

+

=

− 

 

1 36 20
tan

48 15

− +
=

−
 

1 56
tan

33

−=  

1 56
tan

33

−=                      [Using (3)] 

= R. H. S     

6. Prove 
1 1 112 3 56

cos sin sin
13 5 65

− − −+ =  

Solution: 

Let 
1 3

sin
5

x− =  

3
sin

5
x =  

2
3 16 4

cos 1
5 25 5

x
 

 = − = = 
 

 

3
tan

4
x =  

1 3
tan

4
x − =  

( )1 13 3
sin tan ....... 1

5 4

− − =  

Now, let 
1 12

cos
13

y− =  



   

 

12
cos

13
 =  

12
sin

13
y =  

5
tan

12
y =  

1 5
tan

12
y − =  

( )1 112 5
cos tan ...... 2

13 12

− − =  

Let 
1 56

sin
65

z− =  

56
sin

65
z =  

33
cos

65
z =  

56
tan

33
z =  

1 56
tan

33
z − =  

( )1 156 56
sin tan ...... 3

65 33

− − =  

In 
1 1 112 3 56

cos sin sin
13 5 65

− − −+ =  

L.H.S = 
1 112 3

cos sin
13 5

− − +  

 
1 5 3

tan tan
12 4

− −= +                                 [Using (1) and (2)] 



   

 

 1

5 3

12 4tan
5 3

1 .
12 4

−

 
+ 

=  
 −
 

 

 1 20 36
tan

48 15

− + 
=  

− 
 

 1 56
tan

33

−  
=  

 
 

 
1 56

sin . .
33

R H S−= =                       [Using (3)]  

7. Prove 
1 1 163 5 3

tan sin cos
16 13 5

− − −= +  

Solution: 

Let 
1 5

sin
13

x− =  

5
sin

13
x =  

12
cos

13
x =  

5
tan

12
x =  

( )1 5
tan ..... 1

12
x − =  

( )1 15 5
sin tan ...... 1

13 12

− − =  

Let 
1 3

cos
5

y− =  

3
cos

5
y =  



   

 

4
sin

5
y =  

4
tan

3
y =  

1 4
tan

3
y − =  

( )1 13 4
cos tan ....... 2

5 3

− − =  

Using (1) and (2) we have 

R.H.S 
1 15 3

sin cos
12 5

− −= +  

1 15 4
tan

12 3
tam− −= +   

1

5 4

12 3tan
5 4

1
12 3

−

 
+ 

=  
 − 
 

 

1 15 48
tan

36 20

− + 
=  

− 
 

1 63
tan

16

−=  

= L. H. S  

8. Prove 
1 1 1 11 1 1 1

tan tan tan tan
5 7 3 8 4

− − − −+ + + =  

Solution: 

Let 
1 1 1 11 1 1 1

tan tan tan tan
5 7 3 8

− − − −= + + +  

1 1

1 1 1 1

5 7 3 8tan tan
1 1 1 1

1 1
5 7 3 8

− −

   
+ +   

= +   
   −  − 
   

 



   

 

1 17 5 8 3
tan tan

35 1 24 1

− −+ +   
= +   

− −   
 

1 112 11
tan tan

34 23

− −= +  

1 16 11
tan tan

17 23

− −= +  

1

6 11

17 23tan
6 11

1
17 23

−

 
+ 

=  
 − 
 

 

1 325
tan

325

−  
=  

 
 

1tan 1−=  

. .
4

R H S


= =   

9. Prove  1 11 1
tan cos , 0,1

2 1

x
x x

x

− − − 
=  

+ 
 

Solution: 

Let 
2tanx =  

tanx  =  

1tan x − =  

2

2

1 1 tan
cos 2

1 1 tan

x

x






− −
 = =

+ +
 

1 11 1
tan cos

2 1

x
x

x

− − − 
=  

+ 
 

R.H.S 11 1
cos

2 1

x

x

− − 
=  

+ 
 

( )11
cos cos 2

2
−=  

1
2

2
=   

=  

1tan x−=  



   

 

. .L H S=  

10. Prove 1 1 sin 1 sin
cot , 0,

2 41 sin 1 sin

x x x
x

x x

−
 + + −  

=     + − −   
 

Solution: 

Here, 
1 sin 1 sin

1 sin 1 sin

x x

x x

+ + −

+ − −
 

( )

( )

2

2

1 sin 1 sin

1 sin 1 sin

x x

x x

+ + −

+ − −
          (by rationalizing) 

( )( ) ( )( )1 sin 1 sin 2 1 sin 1 sin

1 sin 1 sin

x x x x

x x

+ − + + −
=

+ − +
 

( ) 22 2cos2 1 1 sin 1 cos 2

2sin sin
2sin cos

2 2

x
x x

x xx x

+ − +
= = =  

cot
2

x
=  

L.H.S 1 1 sin 1 sin
cot

1 sin 1 sin

x x

x x

−
 + + −

=   + − − 
 

1cot cot
2

x−  
=  

 
 

. .
2

x
R H S= =   

11. Prove 
1 11 1 1 1

tan cos , 1
4 21 1 2

x x
x x

x x

− −
 + − −

= − −    + + − 
 

Solution: 

Put cos 2x =  

11
cos

2
x − =  

L.H.S 
1 1 1

tan
1 1

x x

x x

−
 + − −

=   + + − 
 



   

 

1 1 cos 2 1 cos 2
tan

1 cos 2 1 cos 2

 

 

−
 + − −

=   + + − 
 

2 2
1

2 2

2cos 2 2sin
tan

2cos 2 2sin

 

 

−
 −

=  
 + 

 

1 2 cos 2 sin
tan

2 cos 2 sin

 

 

−
 −

=   + 
 

1 cos sin
tan

cos sin

 

 

− − 
=  

+ 
 

1 1 tan
tan

1 tan





− − 
=  

+ 
 

( )1 1tan 1 tan tan− −= −  

11
cos . .

4 4 2
x R H S

 
 −= − = − =  

12. Prove 1 19 9 1 9 2 2
sin sin

8 4 3 4 3

 − −− =   

Solution:  

 L.H.S 
19 9 1

sin
8 4 3

 −= −  

 19 1
sin

4 2 3

 − 
= − 

 
 

 ( )19 1
cos ....... 1

4 3

− 
=  

 
 

 Now, let 
1 1

cos
3

x− = =  

 
1

cos
3

x =  



   

 

 

2
1 2 2

sin 1
3 3

x
 

 = − = 
 

 

 1 2 2
sin

3
x − =  

 
1 1

cos
3

−  

 1 2 2
sin

3

−  

19 2 2
. . sin . .

4 3
L H S R H S− = =   

13. Solve ( ) ( )1 12tan cos tan 2cosx ecx− −=  

Solution:  

 Given, ( ) ( )1 12tan cos tan 2cosx ecx− −=  

 ( )1 1

2

2cos
tan tan 2cos

1 cos

x
ecx

x

− − 
 = 

− 
 

 
2

2cos
2cos

1 cos

x
ecx

x
 =

−
 

 
2

2cos 2

sin sin

x

x x
 =  

 cos sinx x =  

 tan 1x =  

 
4

x


 =  

14. Solve ( )1 11 1
tan tan , 0

1 2

x
x x

x

− −−
= 

+
 

Solution:  



   

 

 Given, 
1 11 1

tan tan
1 2

x
x

x

− −−
=

+
 

 
1 1 11

tan 1 tan tan
2

x x− − − − =  

 
13

tan
4 2

x
 − =  

 
1tan

6
x

− =  

 tan
6

x


 =  

 
1

3
x =    

15. Solve ( )1sin tan , 1x x−  is equal to 

(A) 
21

x

x−
  (B) 

2

1

1 x−
  (C) 

2

1

1 x+
  (D) 

21

x

x+
 

Solution:  

 Let tan y x=  

 
2

sin
1

x
y

x
 =

+
 

 Let 
1tan x y− =  

 
1

2
sin

1

x
y

x

−
 

 =  
+ 

 

 
1 1

2
tan sin

1

x
x

x

− −
 

 =  
+ 

 

 ( )1 1

2 2
sin tan sin sin

1 1

x x
x

x x

− −
  

 = =   + +  

 

16. Solve ( )1 1sin 1 2sin ,
2

x x
− −− − = then x is equal to 



   

 

(A) 
1

0,
2

  (B) 
1

1,
2

  (C) 0  (D) 
1

2
   

Solution:  

 ( )1 1sin 1 2sin
2

x x
− −− − =  

 ( )1 12sin sin 1
2

x x
− − − = − −  

 ( )1 12sin cos 1x x− −− = −  

 Let 1sin x − =  

 sin x =  

 2cos 1 x = −  

 ( )1 2cos 1 x − = −  

 ( )1 1 2sin cos 1x x− − = −  

 From equation (1), we have  

 ( ) ( )1 2 12cos 1 cos 1x x− −− − = −  

 Put sinx y=  

 ( ) ( )1 2 12cos 1 sin cos 1 siny y− −− − = −  

 ( ) ( )1 12cos cos cos 1 siny y− −− = −  

 ( )12 cos 1 siny y−− = −  

 ( )1 sin cos 2 cos2y y y − = − =  

 
21 sin 1 2siny y − = −  

 
22sin sin 0y y − =  



   

 

 ( )sin 2sin 1 0y y − =  

 
1

sin 0
2

y or =  

 
1

0
2

x or x = =  

 But, where 
1

,
2

x = does not satisfy the equation 

 Thus, x = 0 is the only solution  

17. Solve 
1 1tan tan

x x y

y x y

− −  −
− 

+ 
is equal to 

(A) 
2


  (B) 

3


  (C) 

4


   (D) 

3

4

−
 

Solution:  

 
1 1tan tan

x x y

y x y

− −  −
− 

+ 
 

 1tan

1

x x y

y x y

x x y

y x y

−

 −
− 

+ =
   −
+   

+   

 

 

( ) ( )
( )

( ) ( )
( )

1tan

x x y y x y

y x y

y x y x x y

y x y

−

+ − − 
 

+ =
 + + −
 

+ 

 

 
2 2

1

2 2
tan

x xy xy y

xy y x xy

−  + − +
=  

+ + − 
 

 
2 2

1 1

2 2
tan tan 1

4

x y

x y

− − +
= = = 

+ 
 


